Scheme A aped (%) acPT°% (%)

1 —83£72+06 —-65+£72£0.6

2 —42+32+06 —-0.6+32+0.6
3 77£58+06 —-78+58+£0.6
4 —-91+£43+£06 —-224+434+06
5 21+£494+06 —-044+£49+£06
6 —23£50+06 —-0.5+£50£0.6
7 —-1.0£30+06 —-0.1+£3.0£0.6
8 42+£37+06 —-1.3+£3.7+£0.6
9 —14+£51+06 —-0.3+£51£0.6
10 —08£27+06 —-3.0£27£0.6
11 —-09£25+0.6 3.5£254+0.6
12 —32£29+06 -3.0£29+0.6
1 14i28508 03420 TebresulsSchemedBies
Scheme B ab e (%) acPT % (%)
1 06£21+06 —-35+£2140.6
2 —-0.3+£22+£0.6 1.8+£22+0.6
3 —28£25+06 —-14+25+0.6
4 29+£294+06 —-47+29+0.6
5 —33£30+06 —-41+£3.0£0.6
6 0.3£3.1+0.6 144+31+£06
7 —2.6+£3.3+0.6 3.8£3.3+0.6
8 41£36+06 —-28+£3.6=%0.6
9 —2.6£321+0.6 1.7+32+£06
10 01£31+06 —-0.7£3.1£0.6
11 —-07+£32+£06 —-224+324+06

12 —4.6+3.2£0.6 1.3£3.2+0.6




